
2-digit - 2-digit (No Regrouping)

Go to onlinemathlearning.com for more worksheets

Find the difference. Write the problem in vertical form, if necessary.

91 - 61 = 

17 - 14 =

97 - 80 = 

73 - 40 =

98 - 12 =

55 - 31 =

76 - 64 =

95 - 65 = 



2-digit - 2-digit (No Regrouping)

Go to onlinemathlearning.com for more worksheets

Find the difference. Write the problem in vertical form, if necessary.

95 - 65 = 30

91 - 61 = 30

17 - 14 = 3

97 - 80 = 17

73 - 40 = 33

98 - 12 = 86

55 - 31 = 24

76 - 64 = 12


